A 106 134
B 14.2 222
C 8.9 16.4
D 9.0 155
E 16.2 1438
= 15 15
G 7.9 1.7
1 H 128 194
[ 71 128
-1 J 10.2 142
13 K 15.0 18.0
(1mg/L) L 20.0 285
: 0.01mg/L( 1) = 59 500
0-015mg/L( 2 2 5 10.79 16.34
1.2 20.0 285
15 15
— () 7.81 6.61
! (G /x)x 100% 445 40.5
2 . ; _
1,2 1,2 P 4
1 \ )
2 2 _’_I
1 1
0 - Sl > - 0 |_ ——
0 4 8 12 16 20 0 4 8 12 16 20 24 28 32
Mo/l ug/L
3.
3.1 1 2 5
1 2
2
3, 4
2
Qs Qs Qs : IR=0Q, Q
3.3 s = IQRx 0.7413
N S Zi
Q, - {(N-1)/74}+1 Zi = (xi- Q)/s xi,zi |
Q, : {2(N-1)/4}+1 Z Q,
Q; : {3(N-1)/4}+1 3.2 (2B : )
@ : )
N=13 Q,=4 ,0Q,=7
, Q=10 1, 2
Ai, Bi



1,2 7 VA (ZB)

Z ()
1z 2 7 z (zB) z (ZwW)
Ai z Bi z Ai+Bi z Bi-Ai z
A 10.6 8 0.09 13.4 4 -0.47 24.0 4 -0.21 2.8 3 -0.87
B 14.2 | 10 0.86 22.2 11 1.51 36.4 12 1.83 8.0 11 0.69
C 8.9 5 -0.28 16.4 8 0.20 25.3 7 0 7.5 10 0.54
D 9.0 6 -0.26 15.5 7 0 24.5 6 -0.13 6.5 8 0.24
E 16.2 | 12 1.28 14.8 6 -0.16 31.0 9 0.93 -1.4 1 -2.13
F 1.5 1 -1.86 15 1 -3.13 3.0 1 -3.67 0 2 -1.71
G 7.9 4 -1.49 11.7 2 -0.85 19.6 2 -0.94 3.8 6 -0.57
H 12.8 9 0.56 19.4 10 0.88 32.2 10 1.13 6.6 9 0.27
[ 7.1 3 -0.67 12.8 3 -0.61 19.9 3 -0.89 5.7 7 0
J 10.2 7 0 14.2 5 -0.29 24.4 5 -0.15 4.0 5 -0.51
K 15.0 | 11 1.03 18.0 9 0.56 33.0 11 1.27 3.0 4 -0.81
L 20.0 | 13 2.10 28,5 13 2.92 48.5 13 3.82 8.5 12 0.84
M 6.9 2 -0.71 24.0 12 1.91 30.9 8 0.92 17.1 13 3.41
4.00
3.00
2.00
2| Ai+Bi | Bi-A 200
(A) | (Bi) | AR B B
Q: 7.9 13.4 24.0 3.0 200
QZ( ) 10.2 15.5 25.3 5.7 1 2 3 4 5 6 7 8 9 10 11 12 13
Q; 14.2 19.4 32.2 7.5
IQR=Qs-Q, 6.3 6.0 8.2 4.5 400
IQRx 0.7413 4.67 4.45 6.08 3.34 o
(%) 1.00
(IQRX 0.7413/Qu)x 100 45.8 28.7 24.0 58.6 o0
-2.00
-3.00
3.2.1 (ZB: ) 1 2 3 4 5 6 7 8 9 10 11 12 13
I 1 4.00
Ai 2 Bi 200
. . 1.00
Al Bi 3.1 0.00
-1.00
(ZB) ZB gyl
1 2 3 4 5 6 7 8 9 10 11 12 13
4.00
3.2.2 @ : ) 200
1.00
0.00
-1.00
1 2 o0
Bi Al - 12 3 4 5 6 7 8 9 10 11 12 13
3.1 3.3
@ ZW
z 2 : (satisfactory)
2 z 3 : (quetionable)
7B ZW 2 z 3 : (unsatisfactory)
5, 6
* APLAC JINLA Al Bi V2, Bi
Al /Y2 V2



